Requisition

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

0000006424

GENFD OPEN Business Unit: Page Req ID: Date 0001047107 11/28/2023 Requisition Name: TEXTBOOKS S24 PREP Bldg# Requester INST Peshon McGarry

Requester Signature

Buyer: Brenda Haney

Approved:

28-NOV-2023 Entered By: R.J

Line-Schd	Description	Quantit	y UOM	Price	Extended Amt Due Date
1-1	ISE ESSENTIALS OF MARKETING BY WILLIAM PERREAULT	5	EA	117.84	589.20
2-1	DESIGNING AND MANAGING PROGRAMS: AN EFFECTIVENESS-BASED APPROACH BY PETER M. KETTNER	9	EA	105.00	945.00
3-1	GIVE ME LIBERTY! (VOLUME 2) BY ERIC FONER	35	EA	55.99	1,959.65
4-1	SIGNING NATURALLY STUDENT WORKBOOK, UNITS 7-12SIGNING NATURALLY STUDENT WORKBOOK, UNITS 7-12 BY CHERI SMITH	35	EA	99.95	3,498.25
5-1	THE ART OF MEMOIR BY MARY KARR	35	EA	7.69	269.15
6-1	ON WRITING: A MEMOIR OF THE CRAFT (A MEMOIR OF THE CRAFT (REISSUE)) BY STEPHEN KING	35	EA	10.39	363.65
7-1	THE PENGUIN BOOK OF THE MODERN AMERICAN SHORT STORY BY JOHN FREEMAN	35	EA	13.81	483.35
8-1	THE GLASS CASTLE: A MEMOIR (BOOK) BY JEANNETTE WALLS	35	EA	9.68	338.80

8,447.05 Sub-total 654.64 Est. tax

Total Requisition Amount:

9,101.69

ORDER # 113-7448437-9769810 ORDER # 113-6703321-7588228 ORDER # 113-4606705-5116207

<u>BU</u>	Acct	Fd	Org	Prog	Sub	Proj	<u>Amount</u>
			FL.VI.PREP	60100	00000	478M	8,447.05

Approval Signature	Approval Signature	Approval Signature

Requisition

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 United States

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 0000006424

OPEN Business Unit: GENFD Req ID: Date Page 11/28/2023 0001047107 Requisition Name: TEXTBOOKS S24 PREP Bldg# Requester Peshon McGarry INST Requester Signature

Buyer: Brenda Haney

Approved:

28-NOV-2023 Entered By: R.J

Extended Amt Due Date Quantity UOM Price Line-Schd Description

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: PREP REGIONAL AUGMENTATION

Project Grant: 478M

Program Director: MARIKO PESHON MCGARRY

ACCESS TO FACE TO FACE INSTRUCTION IN CORRECTIONAL FACILITIES Program Goal:

Approval Signature	Approval Signature	Approval Signature



Details for Order #113-7448437-9769810

Paid By: LOS RIOS CCD Placed By: Julie Batchelder

Order Placed: November 28, 2023

Amazon.com order number: 113-7448437-9769810

Order Total: \$634.85

Business order information

Location: Folsom Lake College FL1-9 Requisition number: 0001047107

Not Yet Shipped

Price Items Ordered \$117.84

5 of: ISE Essentials of Marketing, Perreault, William

Sold by: agreenhippo1 (seller profile)

Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING

10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Standard Shipping

Payment information

Payment Method:

Item(s) Subtotal: \$589.20

Pay by invoice Shipping & Handling:

\$0.00

Total before tax: \$589.20 Estimated Tax: \$45.65

Grand Total: \$634.85

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.



Details for Order #113-6703321-7588228

Paid By: LOS RIOS CCD Placed By: Julie Batchelder

Order Placed: November 28, 2023

Amazon.com order number: 113-6703321-7588228

Order Total: \$5,881.05

Business order information

Location: Folsom Lake College FL1-9 **Requisition number**: 0001047107

Not Yet Shipped

Items Ordered Price

35 of: Give Me Liberty! (Volume 2), Foner, Eric \$55.99

Sold by: Amazon.com Condition: New

35 of: Signing Naturally Student Workbook, Units 7-12, Cheri Smith

\$99.95

Sold by: Diglo (seller profile) | Product question? (Ask Seller)

Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING

10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Two-Day Shipping

Payment information

Payment Method: Item(s) Subtotal: \$5,457.90

Pay by invoice Shipping & Handling:

\$0.00

Total before tax: \$5,457.90

Estimated Tax: \$423.15

Grand Total: \$5,881.05

Grand Total. \$5,001.05

To view the status of your order, return to Order Summary .

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.



Details for Order #113-4606705-5116207

Paid By: LOS RIOS CCD
Placed By: Julie Batchelder
Order Placed: November 28

Order Placed: November 28, 2023

Amazon.com order number: 113-4606705-5116207

Order Total: \$2,586.26

Business order information

Location: Folsom Lake College FL1-9 **Requisition number:** 0001047107

Not	Yet	Shi	ppe	1

Items Ordered

35 of: On Writing: A Memoir of the Craft (A Memoir of the Craft (Reissue)), King, Stephen

\$10.39

Sold by: Amazon.com Condition: New

35 of: The Art of Memoir, Karr, Mary \$7.69

Sold by: Amazon.com Condition: New

35 of: The Glass Castle: A Memoir (book), Walls, Jeannette \$9.68

Sold by: Amazon.com Condition: New

35 of: The Penguin Book of the Modern American Short Story, Freeman, John \$13.81

Sold by: Amazon (seller profile)

Business Price Condition: New

9 of: Designing and Managing Programs: An Effectiveness-Based Approach, Kettner, Peter M. \$105.00

Sold by: Amazon.com Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Consolidated Shipping in fewest deliveries

Payment information

Payment Method:Item(s) Subtotal: \$2,399.95Pay by invoiceShipping & Handling: \$0.00

Total before tax: \$2,399.95

Estimated Tax: \$186.31

Grand Total: \$2,586.26

To view the status of your order, return to $\underline{\text{Order Summary}}$.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.